
Task 2 Task 2 Task 2 Task 2 三大命题形式三大命题形式三大命题形式三大命题形式
1.Argumentation1.Argumentation1.Argumentation1.Argumentation辩论型题目辩论型题目辩论型题目辩论型题目    70%70%70%70%
2.Explanation  2.Explanation  2.Explanation  2.Explanation  解释型题目解释型题目解释型题目解释型题目 20% 20% 20% 20%
3.Others 其他型题目       10% 



辩论型题目辩论型题目辩论型题目辩论型题目

一边倒结构一边倒结构一边倒结构一边倒结构
对称式结构对称式结构对称式结构对称式结构



第第第第五五五五章章章章    
ExplanationExplanationExplanationExplanation解释型题目写法解释型题目写法解释型题目写法解释型题目写法

原因（原因（原因（原因（and and and and 办法）办法）办法）办法）



1.It is generally acknowledged that families 1.It is generally acknowledged that families 1.It is generally acknowledged that families 1.It is generally acknowledged that families 
are now not as close as they used to be. Give are now not as close as they used to be. Give are now not as close as they used to be. Give are now not as close as they used to be. Give 
possible reasons and your recommendations.possible reasons and your recommendations.possible reasons and your recommendations.possible reasons and your recommendations.



2.In some countries the average weight of 
people is increasing and their levels of health 
and fitness are decreasing.
 
What do you think are the causes of these 
problems and what measures could be taken to 
solve them?



3.Nowadays 3.Nowadays 3.Nowadays 3.Nowadays it is difficult for university it is difficult for university it is difficult for university it is difficult for university 
graduates to find a job. Analyze the graduates to find a job. Analyze the graduates to find a job. Analyze the graduates to find a job. Analyze the 
individual and social reasons and offer individual and social reasons and offer individual and social reasons and offer individual and social reasons and offer 
some solutions. some solutions. some solutions. some solutions. 



4.Traffic 4.Traffic 4.Traffic 4.Traffic jam is a problem in big cities. jam is a problem in big cities. jam is a problem in big cities. jam is a problem in big cities. 
What causes the problem? Make some What causes the problem? Make some What causes the problem? Make some What causes the problem? Make some 
suggestions. suggestions. suggestions. suggestions. 



结构一 基本同一边倒结构  5/4段

开头
r1
r2
（r3）
solutions



Topic 3:
It is generally acknowledged that families are It is generally acknowledged that families are It is generally acknowledged that families are It is generally acknowledged that families are 
now not as close as they used to be. Give now not as close as they used to be. Give now not as close as they used to be. Give now not as close as they used to be. Give 
possible reasons and your recommendations.possible reasons and your recommendations.possible reasons and your recommendations.possible reasons and your recommendations.



In the past, family was a very important concept in 
people’s minds, and it was the center of many 
people’s lives. Nowadays, however, the relationship 
between family members is not as close as before. 
The record of divorce rate, according to a survey, 
has been constantly renewed. As far as I am 
concerned, the following reasons should be taken 
into consideration.



第一段：
3句左右背景+1句引起下文

0-2句过去+1-4句现在（其中有
1句现在可以改写题目）



The first reason is that people spend more time on 
their studies and work. Nowadays, people face 
fierce competition and suffer from great pressure. As 
a consequence, they have to devote more time and 
energy to their careers. Some people are too busy 
to spare time for their family. What is more, many 
jobs require people to work in other cities and many 
children have to leave their parents at an early age 
to study or work elsewhere. As time passes, these 
people become emotionally estranged from their 
parents.



Another reason is that there are an increasing 
number of entertainments available. High 
technology brings modern people more interesting 
things, which can easily attract their attention, such 
as watching TV, surfing the Internet and playing 
video games. Consequently, people are addicted to 
these activities, totally neglecting the feelings of their 
family members.



Last but not least, people are now more 
independent than before. Apart from their family, 
they can easily get help from their friends and it is 
much easier to make more friends as a result of the 
rapid improvement in telecommunication. Therefore, 
they are not as dependent on their families as 
before.



原因段  2-3段

1个主题句+3句左右
支持句



To bring families closer, people put forward various 
suggestions. First, we should spare more time with 
our family members, no matter how occupied we are. 
Second, teach children the sense of family when 
they are still young. Finally, it is the government’s 
responsibility to organize activities to promote public 
awareness of the importance of a harmonious family 
relationship.


